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A—
b
c
b=¢p—x
A=2—y/ 15cosd,
d
v /W 7 ns3
my = 1/ /P,
my =/ 15cosdy «/E
P, X
Py—y
6
6.1
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13
14
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17



6.1.1

/285000 d > 1000km
- % Rsind® 2+ R 1-cosd +275 2/149900
@ds 1000km
Lh/252000
d=222.4d°
2d° = arccos  sind;sind, + cos;cosbrcos Ay — A
R =6371
d— km
¢ b—
NN
6.1.2
t=ty+ V,+ AUTI + At
—
to—
Vl_
AUT1— UT1
At——
6.1.3
t=t1+ X-=-X; b-t / X-X;
bt
X X, X—
6.1.4
J=1721013.5+367Y - INT 7 Y +INT M+9 /12
+INT 275M/9 +D+h/24
INT—
Y_
M_
D_
h— h
6.1.5
S, = 6"41™50.54841° + 8640184 .812866°T,; +
0.093104°T? - 6.2° x 107 °T* + Adcose/15
Ty= Jy-2451545.0 /36525
Ju
Ap— "

€

6.2 6.3
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22



S=S,+A
Sy—
>\_
6.1.7
tp=t+ AT
—
AT—
6.2
6.2.1
6.2.2
P=Py+R, -90°-15q¢y R, 8 -90° VT-n"Ey/"
[Losancosdp ]
Py = Esinaocos&) %
Lking, U
[15cosUs/0"
Ckn"V,/p" O
T= Jp-2451545 /36525
k =21.094953
ap——J2000
5,——J2000
U— s/
Uy"— "y
V— km/s
T[”—
Eg
R— X Y Z
J
6.2.3
P= B7'Pi+Vg+ P'Vp Vg 148"/ 1+P'Vy
P =P+ 2u/FIEl e— Ple P / 1+P%
p=p/ P'p*
e=E/IE

— 1321 —
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IEl= E'E *

Vi = Ep/c =0.0057755E,
B= 1-Vivy 77
/¢t =9.87063 x 107°

F—
Ey—
6.2.4
P; = NSP, 25
N=R, -eg-2 R, -A) R, e,
S=R, -Zy R, 0, R, -0
e, = 84381.448"-46.8150"T - 0.00059T> — 0.001813T*
Ty =2306.2181"T + 0.30188"T> + 0.017998"T*
0, =2004.3109"T - 0.42665"T> - 0.041833"T°
Zx =2306.2181"T + 1.09468"T + 0.018203"T°
Ae
Ap—
6.2.5
a=arctg Y/X 26
d=arcsin Z/ Py'Py V2 27
[0
8_
X—X
Y—Y
7—7
6.3
6.3.1 7
7
my m, my my ms a b c d
0 0 0 0 1 - 171996 -174.2 92025 8.9
0 0 2 -2 2 - 13187 -1.6 5736 -3.1
0 0 2 0 2 -2274 -0.2 977 -0.5
0 0 0 0 2 2062 0.2 - 895 0.5
0 1 0 0 0 1426 -3.4 54 -0.1
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my m m3 my ms a b c d
1 0 0 0 0 712 0.1 -7 0.0
0 1 2 -2 2 -517 1.2 224 -0.6
0 0 2 0 1 - 386 -0.4 200 0.0
1 0 2 0 2 -301 0.0 129 -0.1
0 -1 2 -2 2 217 -0.5 -95 0.3
1 0 0 -2 0 - 158 0.0 -1 0.0
0 0 2 -2 1 129 0.1 =70 0.0
-1 0 2 0 2 123 0.0 -53 0.0
1 0 0 0 1 63 0.1 -33 0.0
0 0 0 2 0 63 0.0 -2 0.0
-1 0 2 2 2 -59 0.0 26 0.0
-1 0 0 0 1 -58 -0.1 32 0.0
1 0 2 0 1 -51 0.0 27 0.0
2 0 0 -2 0 48 0.0 1 0.0
-2 0 2 0 1 46 0.0 -24 0.0
0 0 2 2 2 -38 0.0 16 0.0
2 0 2 0 2 -31 0.0 13 0.0
2 0 0 0 0 29 0.0 -1 0.0
1 0 2 -2 2 29 0.0 -12 0.0
0 0 2 0 0 26 0.0 -1 0.0
0 0 2 -2 0 -22 0.0 0 0.0
-1 0 2 2 1 21 0.0 -10 0.0
0 2 0 0 0 17 -0.1 0 0.0
0 2 2 -2 2 -16 0.1 7 0.0
-1 0 0 2 1 16 0.0 -8 0.0
0 1 0 0 1 -15 0.0 9 0.0
1 0 0 -2 1 -13 0.0 7 0.0
0 -1 0 0 1 -12 0.0 6 0.0
2 0 -2 0 0 11 0.0 0 0.0
-1 0 2 2 1 -10 0.0 5 0.0
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my m m3 my ms a b c d
1 0 2 2 2 -8 0.0 3 0.0
0 -1 2 0 2 -7 0.0 3 0.0
0 0 2 2 1 -7 0.0 3 0.0
1 1 0 -2 0 -7 0.0 0 0.0
0 1 2 0 2 7 0.0 -3 0.0
-2 0 0 2 1 -6 0.0 3 0.0
0 0 0 2 1 -6 0.0 3 0.0
2 0 2 -2 2 6 0.0 -3 0.0
1 0 0 2 0 6 0.0 0 0.0
1 0 2 -2 1 6 0.0 -3 0.0
0 0 0 -2 1 -5 0.0 3 0.0
0 -1 2 -2 1 -5 0.0 3 0.0
2 0 2 0 1 -5 0.0 3 0.0
1 -1 0 0 0 5 0.0 0 0.0
1 0 0 -1 0 -4 0.0 0 0.0
0 0 0 1 0 -4 0.0 0 0.0
0 1 0 -2 0 -4 0.0 0 0.0
1 0 -2 0 0 4 0.0 0 0.0
2 0 0 -2 1 4 0.0 -2 0.0
0 1 2 -2 1 4 0.0 -2 0.0
1 1 0 0 0 -3 0.0 0 0.0
1 -1 0 -1 0 -3 0.0 0 0.0
-1 -1 2 2 2 -3 0.0 1 0.0
0 -1 2 2 2 -3 0.0 1 0.0
1 -1 2 0 2 -3 0.0 1 0.0
3 0 2 0 2 -3 0.0 1 0.0
-2 0 2 0 2 -3 0.0 1 0.0
1 0 2 0 0 3 0.0 0 0.0
-1 0 2 4 2 -2 0.0 1 0.0
1 0 0 0 2 -2 0.0 1 0.0
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my m m3 my ms a b c d
-1 0 2 -2 1 -2 0.0 1 0.0
0 -2 2 -2 1 -2 0.0 1 0.0
-2 0 0 0 1 -2 0.0 1 0.0
2 0 0 0 1 2 0.0 -1 0.0
3 0 0 0 0 2 0.0 0 0.0
1 1 2 0 2 2 0.0 -1 0.0
0 0 2 1 2 2 0.0 -1 0.0
1 0 0 2 1 -1 0.0 0 0.0
1 0 2 2 1 -1 0.0 1 0.0
1 1 0 -2 1 -1 0.0 0 0.0
0 1 0 2 0 -1 0.0 0 0.0
0 1 2 -2 0 -1 0.0 0 0.0
0 1 -2 2 0 -1 0.0 0 0.0
1 0 -2 2 0 -1 0.0 0 0.0
1 0 -2 -2 0 -1 0.0 0 0.0
1 0 2 -2 0 -1 0.0 0 0.0
1 0 0 -4 0 -1 0.0 0 0.0
2 0 0 -4 0 -1 0.0 0 0.0
0 0 2 4 2 -1 0.0 0 0.0
0 0 2 -1 2 -1 0.0 0 0.0
-2 0 2 4 2 -1 0.0 1 0.0
2 0 2 2 2 -1 0.0 0 0.0
0 -1 2 0 1 -1 0.0 0 0.0
0 0 -2 0 1 -1 0.0 0 0.0
0 0 4 -2 2 1 0.0 0 0.0
0 1 0 0 1 0.0 0 0.0
1 1 2 -2 2 1 0.0 -1 0.0
3 0 2 -2 2 1 0.0 0 0.0
-2 0 2 2 2 1 0.0 -1 0.0
-1 0 0 0 2 1 0.0 -1 0.0
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my my my my ms a b c d
0 0 -2 2 1 1 0.0 0 0.0
0 1 2 0 1 1 0.0 0 0.0
-1 0 4 0 2 1 0.0 0 0.0
2 1 0 -2 0 1 0.0 0 0.0
2 0 0 2 0 1 0.0 0 0.0
2 0 2 -2 1 1 0.0 -1 0.0
2 0 -2 0 1 1 0.0 0 0.0
1 -1 0 -2 0 1 0.0 0 0.0
-1 0 0 1 1 1 0.0 0 0.0
-1 -1 0 2 1 1 0.0 0 0.0
0 1 0 1 0 1 0.0 0 0.0
6.3.2
1=
=134°57'46.773" +  1325"+198°52'02.663" T+ 31.310"T> +0.064"T> 28
I =
=357°31'39.804" + 99" +359°03'01.224" T -0.577"T> - 0.012"T® 29
F=L-Q L=
=93°16'18.877" +  1342" +82°01'03.137" T -13.257"T° +0.011"T° 30
D=
=297°51'01.307" + 1236" + 307°06'41.328" T -6.891"T> +0.019"T° 31
Q=
=125°02'40.280" — 5"+ 134°08'10.539” T +7.455"T* + 0.008"T° 32
6.3.3
A= igl a; + b;T sinH; 33
Ae = _1&6 ¢+ T cosH; 34

i=1

Hi = I'I'llil + m2i1, + m3iF + H]41D + mSiQ

Ap—
Ae
a~d;  my; ~ ms;
6.4
6.4.1
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R=Ry 1+cA+B

Ry = 60.1158tgZ’ — 0.0176tZ’'-0.0599t2’Z’
a=1+0.0012tg’Z’

—0.00383t
1+0.00367t

p
B=1o13.25!
Z—

A=

Ao =

€ €

pl//s

M, = v/ m? + m,? + ms°

e,sind, + e, sind,,

e, V1 - e*sin*p sinagtgd + e/ 2Hpcosz¢sin2A
—  XSInA + ycosA

+0"/a

sec¢
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36

37

38

39

40



X y——

6.5.2

Ap=p" 1-ésinfd 72/ a 1-e*  egcosas—0.171"Hsin2¢ + ysinA — xcosA 41
H— km

6.5.3

Ax= "V 1 - ’sin*d/aegsinagsecd —  xsinh + ycosh  tgd/15+ Ay +dhy /2 42
dy day

S

1.1
1.2

N N9

3

1.3

a

1.5
.1.6

3

7.1.8

7.2
7.2.1

7.2.2
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7.3
CH 1001 CH 1002 CH 1003

o T e

oo
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Al

A4
A5

Bl
B1.1

B1.2

B1.3

B2

B2.1
B2.2
B2.3
B3

B3.1
B3.2
B3.3

BPM

0.001s
6.1

0.1s

110



B3.4
B4

B4.1
B4.2

B4.3

B4.4
BS

BS.1
BS.2
B5.3

Cl1
C1.1

Smm

C1.2

C2

C2.1
C2.2

C3
C3.1

4
4.1

5.2

90°

Ay = arccos sind — sinpcosZ

20mm

90°

30!/
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/cossinZ
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C4.3 60°  120°
90°
C4.4 Smm

20

D1

D1.1
D1.1.1 2

D1.1.2
0 < 80° S Z
S=a D1
7Z=05-¢ D2
D1.2
D1.2.1 Smin
D1.2.2

D1.3
D1.3.1
f;" = 15AS;cos0; D3
AS;—
D1.3.2 4~6 f;’ f;

D2
D2.1 35°
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D2.2

D2.3
D3
D3.1

D3.2

D3.3

D4

D4.1
D4.2

El
E1.1

1 ~5h

/X=X



El1.2

E1.3

E1.4

El.5

E2

E2.1
E2.2

E2.3

E2.4

E2.5

E2.6

E2.7

E2.8

E2.9

0.5"
E2.10

6//

— 1334



F1

Ly =279.69019 + 36000.76892T

+  1.91946 - 0.00479T  sinG + 0.02000sin2G

+0.00029sin3G + 0.00179sinD

+0.00134cos 299+ V+G +0.00154cos
+0.00069cos 316 +2V -3G  +0.00043cos

+0.00028cos 318 +3V -5G

+0.00057cos 344 -2M +2G  + 0.00049cos
+0.002000cos 180-J+G +0.00072cos
+0.00076cos 87 -2]J+2G +0.00045cos

—0.00479sin0 — 0.00035sin 2L

T= 367Y-INT 7 Y+INT M+9 /12

+ D+ h/24 - 694006.5 /36525

G =358.475 + 35999.050T

M =319.856 + 19140.007T

D =350.737 + 445267.110T

V =213.208 + 58517.400T

J=225.331 +3034.600T

0=259.133 - 1934.100T

L =279.69019 + 36000.76892T + 0.0003T*

a = arctg  sinlgcose/cosly

O = arcsin  sinlgsine

— 1335 —

148 + 2V - 2G
345+3V-4G

200-2M + G

109-2J+G

+INT 275M/9

Fl1

F3



GB/T 17942—2000

GB 12898—1991
GB/T 16818—1997
CH 1001—1995
CH 1002—1995
CH 1003—1995
CH/T 1004—1999
CH/T 2004—1999
CH/T 2005—1999
JJIG 100—1994
JIG 414—1994

3

3.1
3.1.1

3.1.2

3.2
3.2.1

200km
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200km

3.2.2

3.2.3

3.3
3.3.1
25km 20km
15 ~ 45km

3.3.2
9km
13km
3.3.3

4 ~ 10km 1 ~ 6km

3.4
3.4.1

+1/35
3.4.2

+0°.02 +0".3 +0".5

3.4.3
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+0".7 +1".0 +1”.8 +2".5
3

1/20 1/12 1/7 174

+0".9 +1".5 +2".5 +4".5
3.5
3.5.1

1980
1980

a=6 378 140m
GM =3.986 005 x 10"m’ /<
J,=1.08263%x1073
w=7.292 115 x 10 %rad/s
3.5.2
1985
72.260m
3.5.3
3° 6°  3°
1 500 000m
3.6
3.6.1
40°
30°
100
120 120
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3.6.2

30°
25°
12
3.6.3
30°
25°
3.6.4
3.7
3.7.1
3.7.2
4
m

7 +1.0

10 +0.5

5 +0.25

10 +0.20

4
4
4.1
4.1.1
CH/T 1004

4.1.2
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4.1.3

4.2

4.2.1

4m

6m 4m

8m

50m

60m

4.2.2

4.2.3

500 ~ 1 000m

4.2.4
Al
4.2.5

— 1340

2m

6m

120m

Im

60°



A2.1  A2.2

4.2.6

[7 ]
—

o e

0.1m

o e

[oFEN ]

A= =T I e

—

5.3
5.3.1
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1.5m

0.2m

0.1m



o o0 6 T e

—-

5.3.4

3mm

5.3.5

S5cm

5.3.6

3mm

A2.2 “

6.1
6.1.1

A3.1
1 Vu

Smm
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5
DJO7 36 35 n.
DJ1 42 40 m.
DJO7 24 25 12
DJ1 30 28 32 15
DJO7
DJ1
DJ2 12
DJo7 4
DJ1 6
DJ2
6.1.2
JIG 414 JJG 100
6.2
6.2.1
6.2.2
a
b 2C DJO7 DJ1
20" DJ2 30"
c DJO7
1.5 DJ1 DJ2 1
6.2.3
+2° +3°
0.6

1343 —




6.2.4

6.2.5

2/5
172

30% ~70%
b
2/3

6.2.6

6.2.7
DJO7

6.3

6.3.1

6.3.2
a DJO7 DJ1

b DJ2 k

1~1.5km
1
1
1:/
k-1 +2m k-1




180, i@ _
mk1+2k1+2k1+4m
iy
k ) E-1 1
6.3.3
a
n T:%x n-1
7
n Y=n
n vy= k-1
m
8—1800+1’
m
8:1800+1'
Y m
180°  180° ® 1
m Y m
i/
040
i i
2m k-1 +4m
k k=1 2 m
b
1
1
6.4
6.4.1
6.4.1.1 DJ1
a i5//
b
c
d
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6.4.1.2 DJ0O7

a + 5//

6.4.2

DJO7
6.4.3
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c + 2
v/ m} + m3
m; 1y
6.5
6.5.1
6
DJO7 DJ1 DJo7 DJ1
1 3 3
2 1” 1" 1// 1”
3 5// 6// 5// 6//
4 4// 5// 4” 5//
5 3~4 2"5 3"
5~6 3" 4
7 7 4" 5"
6 2".5 3".5
7
6.5.2
7
DJO7 | DJ1 DJO7 | DJ1 DJ2 | DJO7 | DJ1 DJ2
1 1// 1// 1// ‘l" 3// 1// 1” 3”
2 5/’ 6" 5” 6” 8// 5/’ 6" 8”
3 2 C 9// 9// 9// 9// 1 3// 9// 9// 13
4 5// 6// 5// 6// 9// 5// 6// 9//
5 3".5 7".0 9".0
6.5.3
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n-1 m

6.6.2

n

€H

O

e}.l

0rl

Smm

90°
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1/3

15’

10mm

1/3

120°

1/3

60°



20

6.6.3

6.6.4

6.6.5

7.1
7.1.1

0.3m

10mm

10

8m 8m

180°
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10mm

150° ~ 210°

0.3m

0.5m

10mm

0".2

8m



0.5

7.1.2

b

c

d

e

¢

7.1.3

a

b

c

d

e

7.1.4
7.1.5

a WILDT3

b  WILDT2
a

7.1.6

a

DJ2

b

DJ2
10~ 16

3 O/!

a=L-R i=L+R-180F

a:R—L—ISOO ._ L+ R+360°

2 ! 2
L R

DJ07 DJ1 2"

10!/
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c 15"

7.1.7

7.2
7.2.1

7.2.2

7.2.3

GB/T 16818

1/1 000 DJ1

1/800

8.1
8.1.1

Sem

GB 12898

D D 2km

DJ2

13561 —

4km
400m
D/



8.1.2

8.1.3

0.1 0".01

0".01

1" 1.1

0.1

CH/T 2004
8.1.4

CH/T 2005

W=180°- A+B+C +¢"
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m'g_
B__
0"——206 265
b +2W,
+2W, +2.5W, 5%
8.2.4

mg
B__
o'——206 265

m, n’LS2

1
S1 $2

8.2.5

Wy = iZ«/n m32+ma2|+ma22

M=

8.2.6

al

+0.1D m D

+0.05/2Df, m
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9.1
9.1.1
CH 1002
9.1.2
CH 1003
9.2
9.2.1

9.2.2

CH 1001
9.3
9.3.1

o o 6 o e

—-
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Al

1:100000

— 13566 —




A2
A2.1

110

1356 —




A3

0L

01

A3.1

D40

1357



A3.2

1
w3
%l
]
| e
P50
%
1
— z
&70
l

A3

. #AATHE

1 EN
®

1972.6

r /P

40

o

A3

15(2¢p}15

cm

A4
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Ad

A5
100
50
R 2
3
A %‘[‘

B A7 .cm

A5
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m
1 0.0~0.4 5 - - 1
2 0.5~0.7 1 . - :
3 0.8~0.9 , - ] ]
4 1.0 1 : | .
! A3.2.1 A3.2.2
2
d 0.8m A6
s
-, Z/
]
£ L
\‘ v, G
A 12 WA LR
.
/ 7 3
B o 4 () /A,
e A R
% ﬁ$1t£§ ‘,’/A N_
4, =
; ////////// =3
,n.g A A=A =
BEZ+t AR o S IR 2
ﬂV//////////, o
Bfi: cm
1
3
4
5

A6
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A7 A8

A7

15

LI

100

BAL: om
0.75m

A8
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A9

1

<

XXX 4 X B

A10

A9
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| &
Kl
: il
— S
pISIE 4737 [ =
I 1
| — 200 |
{ | ESHR
T 1
l — —
—— o— T . ——
—_ = 1 —
= T E - —4& &
— - 1 _‘ ~
gk = . l
— T —.—
-— 1] —_—
1 1
(oAl e =
80
H 1
120
60
48
Y -RA
+ I
{ i
{ i
i b
b = == =
80
cm
450 3 x30x200 10 4 6
0.48m
A10
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1.5m

All Al12

— R X

EIRFERE ~
(MEZEF) '.':. '-'./\-..'--‘

40

4 '."_'

b1 ARG

120

mEt — -
.

e |

70

INKRHR RN )

0.2m

All
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B4 em



BRAMEX

TR

40

- R

120

Al2
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A13

Bf: m
E=ZARARE

— RS
_3\
V)
P ——+ PRS
0961.2 —— B8 ER o
(FFRAETREED
(BATEED
A3.2¢

Al3
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GB/T 17944—2000

1.1

1.2

2

GB 12897—1991

GB/T 17942—2000

GB/T 17943—2000

CH 1001—1991

CH 1002—1995

CH 1003—1995

CH/T 1004—1999

CH 2001—1992 GPS
CH/T 2003—1999

CH 8016—1995 GPS

3

3.1
3.1.1

3.1.2
3.1.3
a 5" x5

30" x 30’
b GPS
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3.2
3.2.1 “ 1985 ”
3.2.2 “ 1980 "

3.2.3 “ 1985

3.2.4 “ 1975 g
3.3
3.3.1 0.60x 10 ms 2
1.00 x 1073 ms 2
0.30x 10 ms 2
3.3.2 GPS
1.0m

0.020 s x 10 °ms ™2 s km

3.3.3 5" x5 5.0 x
10 5ms 2 10.0x 10 %ms ™2 30" x 30

3.0x 10 ms 2

3.3.4 100m
1.0m

2.0m
3.4
3.4.1

3.4.2

C=AH/ 90V d 1
d— km

30" x 30’ 5" x5’
30" x 30’
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N

N

0.5 0.5
0.7 0.8
0.8 1.4
1.0 2.3
1.3 3.5
1.6 5.0
3.4.4
GPS
3.4.5
3.4.6
GB 12897
3.4.7 5'x 5’
30" x 30’ 2
+200m
2
6 12 16
6 9 12
4 9 9
3.4.8 15" x
15’
3.4.9 GPS GPS GPS
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3.5
3.5.1

3.5.2

60h
3.5.3

3.5.4

CH/T 2003

36h
84h

A—B—A B—A—B

48h

LCR

3.5.5

3.6

CH/T 1004

den

4
4.1

LCR
4.2
4.2.1

4.2.2 LCR
4.2.3

CH/T 2003

ZSM

Wor-



4.3
4.3.1

4.3.2 LCR-G

4.3.3 LCR-G

2% 1074

4.3.4 4

LCR-G LCR-D

0.04x 10 ms 2 0.04 2

N

5% 1073 1x1074 6x107*

N

4.3.5
C=C xAG/Ag
C’_
AG—

4.3.6
me/C=mp/Ag
7.1.6

mp

4.4
4.4.1

4.4.2
4.4.2.1
4.4.2.2 30min 16h LCR

4.4.2.3
4.4.3
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4.4.3.1

4.4.3.2 7.1

m=yv" W /

4.4.3.3

4.5

4.5.1
4.5.2
4.5.3
4.5.4
4.5.5
4.5.6
4.5.7

1.1 LCR
24h

o @

30min

[o el

Smin

wnm o

1.2

[+

-

5.2
5.2.1 LCR

a

b

50 x 10" °ms ™2

1373

LCR



o T

(oW

€

f

&

h
5.3
5.3.1

5.3.2
5.3.3 LCR

5.3.4 ICR
30min
5.3.5
5.3.6
5.3.7 3h
5.3.8

5.3.9
5.4
5.4.1

5.4.2

Smin

1374

0.2



5.4.3

5.4.4 0.1 0.5
6
6.1
6.1.1
6.1.2
a
b
C
d
e GPS
6.1.3
a
b
¢ GPS
6.1.4 D)2 DJ6 1|
10mm+3x107°D  GPS
6.1.5
6.1.6 5
5
DJ2 DJ6
1 2
12" 24"
2C 18" 36"
12" 24"
60"
30"
2 4
15" 24"
10" 15"
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DJ2 DJ6
2
1/20 000
m 5
20"/ n n
1/15 000
m 0.14 /D D km
m 2
m 0.1/L km
6.1.7
GPS
6.2
6.2.1 1:5
1:10
6.2.2
0.3mm
6.2.3
6.3
6.3.1
6.3.2 30° 150°
20° 160°
170° ~ 190°
6.4
6.4.1
6.4.2
30/!
6.4.3
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6.5

6.5.1
6.5.2
6.5.3

6.6 GPS
6.6.1 GPS

E
6.6.2

GPS
GPS

15 ~ 30km

Smin

6.6.3 WGS84

1980

GPS

6.6.4
6

GPS

GPS

15
6.3.2

10min

150km

15km

Sm

km

100 90

80 65

50

6.6.5
6.7

6.7.1
6.7.2

6.7.3

6.7.4

7.1
7.1.1

F B
$=tg”

GPS

ot=-1.16
+1.37F?
+76.08F

60km

165.17F B

B
B

GPS

3km

10km

C/r3
C/r *cosZ Scos*Z -3
C/r, 3 cos?Z,-1/3

—15.73sin?$ + 1.59sin*$

' 0. 993 306tgB

=0.998 327 + 0.001 67cos2B

1377

15km

costZ - 1/3

+4.83




ot—— 107 3ms =2
B—
c C—— km
ror, km
7z Z—
7.1.2
oh =0. 308 6h
Oh—— 10 5 ms 2
h— m
7.1.3
g =RC+ 6t x107° + 6h
g — 10 3 ms ™2
R—— 10" %ms 2
C——
7.1.4
gi=g +K ti-4
K= - & -e -2 @ -el
tg—ty - tp—lc
Gy Gp— 107 ms™?
gr gy gl 10 3 ms ™2
gc' g 107°ms ™2
by ly L——
e Ip
7.1.5
Gi= Gp+Ag;
Agi=gi— ga
Agi— 10~ 5ms 2
G— 10 Pms 2
7.1.6
ma=v W / n n-1
V— 10" °ms ™2
n
1 ma
7.1.7
mg:«/m%+m2A
my 10 9ms 2
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10 ms ™2

7.2
7.2.1
Y0=978 032.68 1+0.005 302 4sin*B — 0.000 005 8sin’2B
B——
7.2.2
Agn=G-7o+ 0.3086 1+0.0007cos2B -0. 72x10"’H H 11
G—— 10~ 5ms 2
)
H—— m
7.2.3

10 9 ms 2

Agp=Ag,-0. 111 6H 12

8.1
8.1.1
8.1.2

8.1.3

12h LCR

8.1.4

8.2
8.2.1

8.2.2
8.2.3 B
8.3

CH 1003 CH 1002 CH 1001

8.4
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o o

- o
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Al

A2
A2.1

a Scm

+1~+8

~1~ -8

1381 —

16



A2.2

A3
A3.1

20
A3.2

30° ~ 60°

A4

16 ~ 20

— 1382 —

16



B/X

LY

1383




2
GB/T 19022.2 - 2000 idt ISO 10012 -2 1997

1.1
1.2
1.3 GB/T 19022.1
1.4
—_— GB/T 19001 GB/T 19002  GB/T 19003
2
GB/T 6583—1994 idt ISO 8402 1994
GB/T 19022.1—199% 1
idt 1ISO 10012 -1 1992
3
GB/T 6583—1994 idt ISO 8402 1994
VIM GB/T 19022.1—199%4
idt ISO 10012 -1 1992
3.1 accuracy of measurement VIM 3.5
|
2
3.2 adjustment  of a measuring instrument ~ VIM  4.30

— 1384 —



control of measurement processes

maximum permissible error

limits of permissible error of a measuring Instru-

3.3 calibration VIM 6.11

4

5

6

3.4 check standard

7 VIM 6.7 2

8

9 A

3.5
10

3.6

ment VIM 5.21
3.7 measurand VIM 2.6
20C

11

3.8 measurement VIM 2.1
12

3.9 measurement procedure VIM 2.5
13

3.10 measurement process

14

15 “

1385 —

of a measuring instrument



16 GB/T 6583—1994 idt ISO 8402 1994 1.2
17

18
3.11 measuring equipment GB/T 19022.1—19%4 3.2

19

20

3.12 measuring instrument VIM 4.1

3.13 metrological confirmation GB/T 19022.1—1994 3.1

21

22 “ !
3.14 quality audit GB/T 6583 -1994 4.9

23

24
25

26
3.15 resolution  of a displaying device =~ VIM 5.12

27
28
3.16 stability VIM 5.15
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29
30

31
32

33
34

35

36

37

38

4.1

traceability VIM 6.10

uncertainty of measurement

verification GB/T 6583—1994 2.17

— 1387 —

VIM 3.9

2.2.4



4.2

39
4.3

— 1388 —




4.4

4.5

4.6

4.7

GB/T 19022.1

GB/T 19022.1

1389



ISO 5725

4.8

4.9

ISO 8258 1991 10.4

4.10
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4.11

GB/T 19022.1—1994 4.15

4.12

4.13
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4.14

4.15
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Al
Al.1 bias of a measuring instrument ~ VIM 5.25
1
Al.2 conventional true value of a quantity VIM 1.20
a
b CODATA 1986 Ny 6.022 1367
x 10%mol =
Al1.3 correction factor VIM 3.16
2
Al.4 error of indication of a measuring instrument
VIM 5.20
3
4
5
Al.5 influence quantity VIM 2.7
c
Al.6 precision ISO 3534 -1 1993 3.14
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3.4

Al1.7

10
11

A2
A2.1

true value

— 1394 —

of a quantity

VIM

1.19

Ad



A2.7 CUSUM

10

A3
A3.1

A3.2

A3.3

A3.4
A4
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AW N =

10
11
12
13
14

15

16

ISO 3534 -1
ISO 3534 -2

1993
1993

I1SO 3534 - 3—D

ISO 5725 -1

ISO 5725 -2

ISO 5725 -3

ISO 5725 -4

ISO 5725 -5

ISO 5725 -6

ISO 7870

ISO 7873

ISO 7966
ISO 8258

1994

1994

1994

1994

—®

1994

1993

1993

1993
1991

GB/T 19000.1—1994—IS0 9000 - 1

GB/T 19001—1994—IS0 9001

GB/T 19002—1994—1IS0 9002

SIS}

ISO 3534

-3 1985

1994

1994

1396



17

18

19

20

21

22

23

24

25

26

27

28

29

30

31

GB/T 19003—1994—1I1S0 9003

GB/T 19004.1—1994—I50 9004 - 1

GB/T 19021.1—1993—1S0 10011 - 1

ISO 30
ISO 33

Eisenhart C.

Shewhart W.A
1931
1980
Cameron J.M.
USA 1977 4
ASTM

David H.A.
Kotz S.
New York 2
Oakland J.S.

Newnes

Johnson

London

— 1397

1994
1994 1
1990
1992
1989
VIM 1993  BIPM/IEC/IFCC/ISO/OIML/IUPAC/1-
UPAP
GUM 1995 BIPM/IEC/IFCC/ISO/OIML/IUPAC/1U-
PAP
1963 4 ~6
Van Nostrand Company New Jersey
Milwaukee W1 USA
NBSIR77—1240 Washington DC
6 ASTM MNL7—
Philadelphia. 1990
OIML 16 P
John Wiley New York 1981
N.L. Wiley Interscience
1982 7 1986
Followell R.F. 2 Heinemann
1990



GB/T 16818—1997

2
JJIG 703—90
CH 8001—90
3
D'— m
D—— m
Dy m
D, m
D, m
k — ~0.13
r m r T
H, H, m
4
15km
3km  15km 15km
1km
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3km



Imp | <2mm

2mm < Imp| <5mm

Smm < |mp| < 10mm

10mm < | my |

5.2.1
1km
5.2.2

JJIG 703—90

1km

hPa

0.2

0.5

0.5

5.2.3
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5.3
5.3.1

5.3.2

5.3.3

5.3.4

5.3.5

5.3.6

5.3.7

5.3.8

5.4
5.4.1
5.4.2

6.1

1.3m

2m

2m

hsSD x 10°
q

— 1400 —

35kV




6.1.1
6.1.2
0.5h  2.5h 2.5h
0.5h
1h
6.1.3
6.1.4 1h

6.1.5
6.1.6

6.2
6.2.1

6.2.2

6.2.3
6.2.4

6.2.5

6.3
6.3.1

6.3.2

2min
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6.3.3

b.
2min
500m
c.
1km
d.
e.
1°C
2hPa
6.4
6.4.1
6.4.2 4
4
4 4
1 2 2
4 4
2
Il 4 4
I 2
v 4
©)
@
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6.4.3 5
5 mm
1 2 3
I 5 7
V2 A+BxDx107°
I 10 15
v 20 30
@)
@ A+BxDx107°
6.4.4
3
Ah<0.1D' x 1073
Ah—— m
4
2
my=2_. P
Sgsina
—206265"
ma—
(04
—
6
5// ~ 10// 10" ~ 30// 30//
DJ2 DJ2 DJ6 DJ6
2 2 2 2
1 1 1 1
6.5
6.5.1
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6.5.2

6.5.3

6.5.4

6.5.5

6.6

6.6.1

6.6.1.1

6.6.1.2

6.6.1.3
6.6.2

6.6.2.1
6.6.2.2

6.6.2.3

6.6.3

6.7

6.7.1
6.7.2
6.7.3

6.7.4

60°

120°

Sm

90°

Smm

1 0/!
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7.1
7.1.1
AD;=D" n,-n, x107° 5
ADni mm
n()
ny
n-1 = 287.604+3X1i26288+5xoi?136 x 107 6
1 = 1 273.16P _11.27x107° ;
i = M 273.16 +t x1013.25~ 273.16+t ¢
A— pm
Ny
— C
P— hPa
e—— hPa
e=E-¢c t-t P
E= 10 at’/ b+t +0.7858
— C
t— C
P— hPa
E— hPa
c 7
7
a 7.5 9.5
b 237.3 265.5
c 0.000 662 0.000 583
7.1.2
D3
AD,, = k- — 1
2 12 0
AD,,—— m
10km




7.1.3

V2

7.1.5

7.1.6

7.2
7.2.1

—f _
ADf:L D,

Hz
Hz

AD, = Asin &y + % « 360

mm
mm
m
A %
ADKZK
ADR: R D,
mm
mm/km
IRl <1x107°

W<=<0.3m
ADy = — W cosd — W* cosO’

— 1406 —

11

12

13
14

IRI >1x

15



Wl
GI
b W>0.3m
Dy = v/ D% + W? = 2Dy Weosd
W— m
g——
Dy—
7.2.2 D
a 3km
D, = v D - AH?
3km D
D3
Dy=D-K=-—
0 247
D < 15km Dy=D
D,
D_J Di- H-H °
1= 1+H1/r 1+H2/I'
b
D,=D+ —
2= 0
7.2.3
a < 15km
b
H1 = YpSINL; — 41' SI11. 1
C D]_n
Dl = DHI 1 - HI/I'
d
D, =D, + D,*/24/
DHl Pl P2 m

— 1407 —

16

17

18

Do

19

20

21

22

23



H,; P, m
7.2.4
a
H, - H, = DycosZ, + 12—;1‘ DysinZ; 2
b
H, - Hy =Dy/2 cosZy, — cosZy;
Ly PP °
L—P, P °
7.2.5 D, D,
D,=D; 1 le Ay 2
ES0 T 2T ae
By— Ay =y -y
Ym™ Ym=1/2 Yit Vi
Ty m
7.2.6
D,=D; 1-H',/r\
D.—— m
Hm’_
Tra m
ry=+vNM 1- %e' tos”Bncos2a
M N——
o
p— o
" o
7.3
7.3.1
my=+ A+BxD
A— mm
B—— mm/km
A= m+m+m+mj+m V2
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B= mi+ms+mi+mi 2

m12—
m3
m3
mi—— 3
m3
2 _ A
s = n n-1 29
V_
1
m%
m— 0.2x10°°
mg
m%
8
8 mm/km
1.0 12
1.5 1.5/2
2.0 242
7.3.2
a
dpd
my= £,/ ;nF 30
b
dpdp
my = i%\/ *n* 31
C
my 1
D, D/my
dF mm
n n=4
D,




© ©°o®m oo

40°C -15C
9.2

9.3

9.4

9.5
9.6

6:4
9.7
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hPa

hPa
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GB/T 14267—93

S5km
2

GB 2421 ~ 2424
GB 6587.1

GB 5080

GB 4857.1

GB 191

3

3.1

mp=+ A+B D 10°°

Impl  mm

Impyl< 3+2 D 10°°

342D 107 <Impl< 5+5D 10°°

545D 107° <Impl< 10+10 D 106

0.5km 1km
3.2
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05 1 2 3 5
500 1 000 2 000 3 000 5 000
<5 <5 <10 <15 <20
23.5km
3.3
D C XX — XX
3.4
3
3
1 I I
1 A <3 <5 <10
2 <2 <5 <10
3 D 1 1 1~10
4 2
5 T -10~ +40
6 <12
7 a -30~ +30
8 <8
9 MTBF <1200

— 1418




1 000

4.2
30"
4.3
1 + 1.0mm
£1.5mm [l
4.4
50 ~ 100m
+4mm [l

+3.0mm

1.5 1

+ 6mm
4.5

1 #1.7mm I
+5.5mm

4.6

2.5mm I 4.0mm I 8.0mm
4.7

10%

4.8

4.9

4.10

4.11
1
Il +3x107° +6x107°

4.12

Il

GB 4857 - 40°C

4.3

4.13

98m/s
4.3

60 ~ 80 10g

4.14

1419

+ 2mm

+2.8mm [

+1.5x%

+55%C



30cm

4.15

4.1
5.2
5.2.1
100 ~ 200m
5.2.2

5.3

5.3.1
30m

5.3.2

30
5.3.3

m=x+v VV / n-1
Vi:Di—D

5.4.1
a. 50 ~ 100m

5.4.2

0.5
+1.5

— 1420 —



5.5 Ag
5.5.1
“ ” 20 ~ 40
+0.2mm +0.5
mm 1
| B -
[ >
2 — = hE
1 2
S Y IS Y o Y I TERRRRA R RRA[ FE KR EEFE[REREE FEEFE F A EEE FFE
- 1/ o LA
- vk -
- 7 =
1
5.5.2
20 ~ 80m
A
Al
5.5.3
4
Ap= =+ VX2 +Y? 4
5
¢y = arctg  Y/X 5
X=- 22":1 —sintpy; L, /n
Y=- 2:‘1 —cosPpy; L /n
0.= DV/L.  x360°
Ab=  d/L,  x360°
Di=dhi+ i-1 A
L=D+ i-1 d-D
D— i m
L—— * ? m
DY m
d— m
i=1 2 3



cb[) -
i
%

5.6
5.6.1

5.6.2

5.7
5.7.1

5.7.2

4.7

5.8
5.8.1

5.8.2

5.9

2.5

1422
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5.9.1

a. 500 ~ 2000m
2
] 1 2 3 6
2
b. +0.2C
C. + 1hPa
5.9.2
2
4
4
1 2 3 4 5 6
0 0—1 0—2 0—3 0—4 0—s 0—6
1 1—2 1—3 1—4 1—5 1—6
2 2—3 2—4 2—5 2—6
3 3—4 3—5 3—6
4 4—5 4—6
5 5—6
5.9.3
ae
21
B
b A B
mij = *x v AN /4
B = Dlj' B mij - E / Dll -
A=m-B D
_D = Dl] /l’l m
m= m; /n mm
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1°C/min 3h
5.10.3
-10C  +20<C
+40°C 4
5.10.4

| V2A1 A
5.11
5.11.1
50MHz 1x1077

o

+1%C
-20~ +50C +2°C

o

)]

1.2
10C 1h

5.11.3

St= h-f /h
S—

Hz
fr— T Hz

12

2.1

w0

-40~ +55%C
5.12.2
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4.12
5.13
5.13.1

5.13.2

10g
5.14
4.14
5.15
5.15.1

-40<C

1 000

b. +40°C +3C

5.15.2

10% GB 5080

10

D,— MTBF

0C +15~ +30%C

11

+55%C

0C +3%C

TK = 1my X Dm Tl

+40C

8h
40 ~ 80 98m/s”
4.13
4.9
Cl n
10
24h
r
1/2
11



b. MTBF m 12
m=T"/r 12
T*—
_—
c.MTBF my, 13
m; =M m 13
M— C3
e
m=T"/2.3
6
6.1
5
1 4.1
2 4.2
3 4.5
4 4.6
5 4.4
6 4.3
7 4.7
8 4.9
9 4.8
6.2
ae.
b.
Ce.
d.
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1 4.10
2 4.11
3 4.12
4 4.13
5 4.14
6 4.15

7

7.1

7.1.1

de.

b.

Ce.

7.1.2

GB 191

7.2

7.2.1 GB 4857

7.2.2

7.2.3

7.3

ae.

b.

Ce.

d.

7.4

GB 4857

1427




Al
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A2
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No

D, | D-D D, D,-D D, D,-D

m mm m mm mm
1 11 21
2 12 2
3 13 23
4 14 24
5 15 25
6 16 26
7 17 27
8 18 28
9 19 29
10 20 30

m ==+=+ VV /29

1430




B C
C
Q; Bl
B1 Q
Qlj QZj Q3j Q4j QSj Qf)j Q7j
0.200 00 0.057 14 0.114 29 0.171 43 0.228 57 0.285 71 0.342 86
0.057 14 0.302 04 0.175 51 0.191 84 0.208 16 0.224 49 0.240 82
0.114 29 0.175 51 0.351 02 0.240 82 0.273 47 0.306 12 0.338 78
0.171 43 0.191 84 0.240 82 0.432 65 0.338 78 0.387 76 0.436 73
0.228 57 0.208 16 0.273 47 0.338 78 0.546 94 0.469 39 0.534 69
0.285 71 0.224 49 0.306 12 0.387 76 0.469 39 0.693 88 0.632 65
0.342 86 0.240 82 0.338 78 0.436 73 0.534 69 0.632 65 0.873 47
C=AQ +BQp + CQi3 + DQuy + EQis + FQi6 + GQi7 g
Vo = AQy; + BQy + CQo3 + DQyy + EQos + FQuq + GQ27E
V& = AQs; + BQs + CQs3 + DQsy + EQss + FQs6 + GQ37E
V8 = AQu + BQy + CQu3 + DQuy + EQys + FQus + GQur [ Bl
V3 = AQs; + BQsy + CQs3 + DQsy + EQss + FQs + GQ57E
Vs = AQq1 + BQg + CQg3 + DQes + EQes + FQgs + GQmE
V8= AQn + BQp + CQps + DQry + EQrs + FQzs + GO H
A= al. = -ILI
= bL =T —Lpp—Tiz— Ly —Lis — Lig
= cL =lp+Lp-ln—ly—-Ils-Ix
D= dL  =1lg+ L3+ Lo —1la—ls5— a6
= el =lo+Ly+lo+ s —Lys— Ly
F= fL =Tgs+ Lis+Los+ Las+ Lys — Lsg
= gl =1Los+ Lig+ Log + Lsg + Lus + Lss
L =D} - Dy B2
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Dl— m

1j
B= DIJB mij—m / Dij—ﬁz
A=m-B D
_D: Dl_] /H
;: mij /H
Di— m
n
j—
C
C1
4~16 3
17~ 52 5
53~96
97 ~ 200 13
200 20
c2
% D, m=my m=nm,
« | e m ' « "B
5:2 10 10 2.0 9.4 14 9.6 10.6
5:3 10 10 3.0 3.1 6 9.4 9.9
5:4 10 10 5.0 1.1 3 10.0 8.3
a— m=my
— m=m,
my——
ml_
D,— D,, = my/my

— 1432 —




GB 5080.7 12

C3 ¢ G
r 1 2 3 4 5 6 7 8 9 10
G 0.257 | 0.376 | 0.449 | 0.500 | 0.539 | 0.570 | 0.595 0.616 | 0.634 | 0.649
C, 9.491 3.761 2.772 | 2.293 2.055 1.904 1.797 1.718 1.657 1.607
r 11 12 13 14 15 16 17 18 19 20
G 0.633 | 0.675 | 0.686 | 0.690 | 0.705 | 0.713 | 0.720 | 0.727 | 0.734 | 0.740
C, 1.567 1.553 1.504 1.478 1.456 1.437 1.419 1.404 1.390 1.377
7ZBY 320 3
50 Cl n=5 2 5:4
10 Tx
Te=1.1x5x1200=6 600h
Te/n =1 320h
185h
r=2 11
660h
12 m =3 303h
€3 M=0.376
13 MTBF my,
my = 1238.6h
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